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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

T19_S03 

① ② 300＋800＝ 400＋900＝ 

300＋900＝ 

100の束が ３＋ ９ 

100の束が ３＋８ 100の束が ４＋９ 

③ ④ 500＋500＝ 600＋800＝ 

100の束が ５＋５ 100の束が ６＋８ 

⑤ ⑥ 500＋900＝ 800＋400＝ 

100の束が ５＋９ 100の束が ８＋４ 

⑦ ⑧ 900＋200＝ 900＋700＝ 

100の束が ９＋２ 100の束が ９＋７ 

⑨ ⑩ 700＋800＝ 700＋500＝ 

100の束が ７＋８ 100の束が ７＋５ 



問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T19_S03 

200＋900＝ 

900＋800＝ 

100＋900＝ 

400＋800＝ 

600＋600＝ 

700＋700＝ 

800＋700＝ 

600＋700＝ 
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700＋300＝ 

500＋800＝ 

900＋500＝ 

900＋600＝ 

700＋900＝ 

800＋300＝ 

800＋800＝ 

900＋400＝ 

300＋900＝ 
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例題      にあてはまる数を書きましょう。 

問題    にあてはまる数を書きましょう。 

T19_S03 

① ② 1200－600＝ 1500－700＝ 

1500－800＝ 

100の束が 15－8 

100の束が 12－6 100の束が 15－7 

③ ④ 1800－900＝ 1700－800＝ 

100の束が 18－9 100の束が 17－8 

⑤ ⑥ 1600－700＝ 1100－400＝ 

100の束が 16－7 100の束が 11－4 

⑦ ⑧ 1400－600＝ 1300－500＝ 

100の束が 14－6 100の束が 13－5 

⑨ ⑩ 1200－700＝ 1300－600＝ 

100の束が 12－7 100の束が 13－6 



1500－800＝ 

問題    にあてはまる数を書きましょう。 

例題      にあてはまる数を書きましょう。 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 
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1500－800＝ 

1700－900＝ 

1200－700＝ 

1200－500＝ 

1300－400＝ 

1400－600＝ 

1300－800＝ 

1400－900＝ 
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1300－700＝ 

1800－900＝ 

1700－900＝ 

1100－600＝ 

1600－800＝ 

1600－700＝ 

1400－600＝ 

1200－400＝ 


